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Secondary Math 3

7.3 Inverse Functions

Name___________________________________

Date________________  Period____

-1-

Graph each function and its inverse. State the domain and range of both. 
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2)  f (x) = 2 − x3
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3)  f (x) = −
4x
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4)  f (x) = 
3
x  − 1

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6



©b R2z0x1Q8t iKpuutTaO ySUolfftqwIaLrJed `LnLwCy.j s bAXlAlq Cr`iTguhFtqsc vrUeJsUe]rZvzehdR.\ V nMJaYdqeh LwhiOtshv \I^nhfwisnniEtTeK ^AXlNgaeUb^ruaF z2H.

Worksheet by Kuta Software LLC-2-

5)  g(x) = 
−2x − 4
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6)  g(x) = −(x + 3)3
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Fill in the missing information. 

7)  Domain f (x): (-∞, ∞)
Range f (x):
Domain f −1(x): (3,∞)
Range f −1(x):

8)  Domain f (x): (-8, 230)
Range f (x): (-∞, 7)
Domain f −1(x): 
Range f −1(x):

9)  Domain f (x): 
Range f (x): (-∞, 18]
Domain f −1(x): 
Range f −1(x): (-∞, ∞)

10)  Domain f (x): 
Range f (x): 
Domain f −1(x): (-8, ∞)
Range f −1(x): (-10, ∞)

Determine if each graph is a function. 
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Find the inverse of each function.

15)  f (x) = 2x + 2 16)  f (x) = −2x3 + 2

17)  f (x) = 
15 + 2x

5
18)  g(x) = 

−2x + 14

5

19)  f (x) = 
3

x
 + 3 20)  g(x) = 

1

x + 3
 + 1

21)  f (n) = (n − 2)3 − 3 22)  g(x) = 
−4 − 

3
4x

2


